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(4) If Jimmy John's is running the following promotion. Let
X be the number of touch downs of Purdue's next football
game. Jimmy John's will give each customer X*2 number
of free sandwich.

(Interpretation: If 1 touch down, then each customer gets 1
sandwich.

If 2 touch downs, then 4 sandwiches; If 3 touch downs,
then 9 sandwiches

Question: What is the average number of free sandwiches
a customer can have?

\ns: 0.5*172+0.3*272+0.2*3/2=3.5
(5) If X is the number of friends | talk to in the next hour.
What is the average of X"2?

\ns: The same as the last question.
(6) If my iphone runs <=2 programs, then it can last a day.

If it runs >=3 programs, then it can only last 0.5 day. What
is the average hours that my iPhone can last?

\ns: 0.5*24+0.3*24+0.2*12=21.6 hours
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ter. We need to quantify what is the probability that "switching is better", and what is the
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